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5xyz*-3zy 5xyz® and -3zy 5&-3
14+X+X2 1,x and x2 1,1&1
AX*Y?-4 X*V27%+7% | AxPYP,-4 xPy?z%and 722 |4,-4 & 1
3-pg+gr-rp 3, -pqg,qr -rp 3,-1,1&-1
X_ Yy Xy

2+ 5 Xy 2" o Xy & -1
0.3a-0.6ab+0.5b | 0.3a,-0.6ab,0.5b 0.3,-0.6 & 0.5
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X+y \/
1000 v

XX+ +x4

‘/ (Foe, ITRWD)

7+y+5x
2y-3y”
2y-3y*+4y®

5x-4y+3xy
47-157°
ab+bc+cd+da

v (mory, BTN)

par
P?g+pg®
2p+2q
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ab—bc, ab-bc
bc—ca, bc-ca
ca—ab -ab  ca(ITRYR, DB oBIT)

=ab+bc+ac
2p°q*-3pa+4, 2p’q” ~3pq+4
5+7pg-3p°q’ —3p2g?+7pg+5(SBRVRY, HDER0BIT)

1> + m?,
m? + n?,
N + 12, n? (BErvRY, BDHEEDIT)

2lm + 2mn + 2nl 2lm + 2mn + 2nl

=2(1°>+m?+n?+Im +mn+nl)
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12a —9ab + 5b — 3

d4a — 7ab + 3b + 12

12a—9ab+5b-3
- (4a—7ab+3b+12)

5xy — 2yz — 2zx + 10xyz

3xy + 5yz — 7zx

5xy—2yz—2zx+10xyz
- (B3xy+5yz—72x)

+5pg—2pg°+5pq

4p*q—3pg+5pqg”

+5p2<2:1—2pq2J2r5pq
- (4p“g+5pg~—3pq
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